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the title page of the : answer-book.
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e  Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

“ Please check that this question paper contains 30 questions.
* Please write down the Serial Number of the question before attempting it. ,

B 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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General Instructions :
(i)  All questions are compulsory.

(ii) This question paper consists of 30 questions divided into four sections - A, B, C
and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each. Section D contains
8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in four
questions of 3 marks each and 3 questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v) Use of calculator is not permitted.

-3
SECTION - A

THATHEI 1 F6TF TIF TA 1 AFFE |

Question numbers 1 to 6 carry 1 mark each.

/ﬂﬁx=3,ﬁmaﬁmﬁ-zh-6=om@¥f’é,a‘rkmmmﬁﬁq]

If x = 3 is one root of the quadratic equation x> — 2kx ~ 6 = 0, then find the value of k.

30/1 2
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What is the HCF of smallest prime numbcr nnd the qmallest composuc number ? ’

//@ﬁf‘lgl’(r y)ﬁwﬁgﬁwmml

Find the thsumw of a point P(x, y) from the origin.

/ﬁt@m At BT W3R (d) = — 4 TN AT TG (a;) = 4 B, T Af 1 7 T 0
- Hifwg | .
In an AP, if the common difference (d) = -4, and the seventh term (a;) is 4, then find the

first term,

5. §2 67° - sin? 23°) HIWA R 7

What is the value of (cos? 67° - sin? 23°) ?

7% A ABC
/\ﬁtﬁamc ~APQR 2, HEPQ Bgﬁmapqa T SITT |

1 ar A ABC
Given A ABC ~APQR, lf PQ =7 then find m A

g -
SECTION - B

e WA 7 @ 12 T el 59 2 3 1 § |

Question numbers 7 to 12 carry 2 marks each, S 4

/ﬁmt%ﬁmmt it frg SR 6 (5 + 34/2) T aftRd T |

Given that \ﬁ is irrational, prove that (5 + 3\]5) is an irrational number,

30/ 3 ' [P.T.0.

Scanned by CamScanner



| }/aa@ﬁr-lﬁ,mcn@m%lxaany#mmaﬁﬁm

D Xty C '

[ otd] g = ) ! me=
N B T Hheat adlFa |4 aa

14 9t

A 30 e} B
e - 1

In Fig. 1, ABCD is a rectangle. Find the values of x and y.

D rty. C

14 cm xX-y

A 30 cm B
Fig.-1

V:%ymsmwaﬁmtﬁﬁml

. Find the sum of first 8 multiples of 3.

/nAg mmﬁﬁqﬁaﬁﬁg P(4, m), fégaﬁ AQ, 3) 7o B(6, -3) &1 faem aret
%@mﬁﬁmﬂﬁw% | HA: m T A T HIAC |

Fingl the ratio in which P(4, m) divides the line segment joining the points A(2, 3) and
B(6, -3). Hence find m. |

%ﬁﬁir«rmaﬁwmmw | ot & 3 oY sfren e <R -
0 fies a1 | '
(i) QM TRl aT 31§ FEATAAT 1 AT 10 3 |
Two different dice are toslsed together. Find the prbbability &

(i)  of getting a doublet

(i)  of getting a sum 10, of the numbers on the two dice.

301 , 4
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An integer is chosen at random between 1 and 100. Find the probability that it is :
(I)  divisible by 8, '

(if) not divisible by 8, -

g —-¥
SECTION -C
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Question numbers 13 to 22 carry 3 marks each.

/(ﬁﬂ'«*ﬂ%qﬂna (HCF) 921 9.9, (LCM)mﬁﬁqamﬁmquqzﬁrﬁn
HCF x LCM =i &) 7§ Teait s1 o

Find HCF and LCM of 404 and 96 and verify that HCF X LCM = Product of the two
given numbers.

m(zﬁ O3 +5£+3x-1)%aw(2+\]‘)wa {)%?ﬁmmﬁ
Wmﬁ‘ﬁml

Find all zeroes of the polynomial (2x* — 9x3 + 5x% + 3x - 1) if two of its zeroes are

(2+f3)and (2-\f3).

15,/74f¢ A-2, 1), B(a, 0), C(4, b) 71 D(1, ZJWW?@{GABCD%?Nﬁgﬁ o a T
%mmﬁmlm magﬁwﬁgmaﬁﬁmmzerm|

_ U '
fé A(-=5, 7), B(=4,-5), C(~1, - 6) T D(4, 5) T f@iﬁ ABCD % d fiig &, @t =g
ABCD 1 g% T <hifT | . L
If A(=2, 1), B(a, 0), C(4, b) and D(1, 2) are the vertices of a pdrallelogram ABCD, find
the values of a and b. Hence find the lengths of its sxdes

OR

If A("’S 7), B(—4 —5), C("'I —6) and D(4 5) are the vertices Of ﬂ quad['ﬂd[cral find the
area of the quadrilateral ABCD.

30/1 - 2 S .
[P.T.0.
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A plane left 30 minutes late than its scheduled time and in order to reach the destination

1500 km away in time, it had to increase its speed by 100 knv/h from the usual speed.
Find its usual speed.

T B e O . 2 Ii

g ""‘=-..‘_;i,~‘"', “,__lr \‘.:_’:\}}J & | i | | | i‘;_,.",i | & {‘!I'l n B ‘/*I‘ e H B B
17. Tog e e Rt oot ) @ spon W asmg o wwang Brga @ gewer, vad Rl W@
' FATC T THETE P & Qwet w1 s BT # |
AT

afe < wwey Bl % e v R, @ frg B Re e Aot gatmem g § 1

Prove that the arca of an equilateral triangle described on one side of the square is equal

to half the area of the equilateral triangle described on one of its diagonal,
OR

If the area of two similar triangles are equal, prove that they are congruent.

18. firg e fh e wmer fiig & e v wifelt i vt Yot < wemgt s Rk § |

Prove that the lengths of tangents drawn from an external point to a circle are equal,

. 48in0-cos 0+ 1
y./zr&4:ane=38,fﬁ (4sin9+cosﬂ—l) 1 W T H |
: F
zrﬁuanzmcot(A-18°),W2A@=§fmt,tﬁﬁmmmﬁml

4sin9-cose+lj
If 4 tan 6 = 3, evaluate | 7" "a" "0

OR
If tan 2A = cot (A - 18°), where 2A is an acute angle, ﬁnd the value of A.

30/1 6
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Find the area of the shaded region in Fig. 2, where arcs drawn with centres A, B C
and D intersect in pairs at mid-points P, Q, Rand S of the sides AB, BC, CD and DA
respectively of a square ABCD of side 12 cm. [Use 1t =3.14]
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A wooden article was made by scooping out a hemisphere from each end of a solid
cylinder, as shown in Fig. 3. If the height of the cylinder is 10 cm and.its base is of

radius 3.5 cm. Find the total surface area of the article.

<

7,

Fig. 3
OR

L |

A heap of rice is in the form of a cone of base diameter 24 m and height 3.5 m. Find
the volume of the rice. How much canvas cloth is required to just cover the heap ?

}/ﬂ%eﬂnﬁmﬁuﬁﬁzsoaﬁwéﬁmaﬁmw%:

A (&R [ ) | < g
5-10 49
10-15 133
15-20 63
20-25 15
25-30 6
30-35 7
35-40 4
40-45 2
45 - 50 1

< vt e S |

The table below shows the salaries of 280 persons :

Salary (In thousand (J) | No. of Persons
5-10 49
10-15 133
15-20 63
20-25 15
25-30 6
30-35 7
35-40 4
40-45 2
45 - 50 1

Calculate the median salary of the data.

301
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Question numbers 23 to 30 carry 4 marks each.

ﬁ/@ﬁm-ﬂaﬁaﬁwwﬁw mmm% 24 Pt o7 35 s oy 3,
aﬁm%wmﬁﬂmmiwaﬁmﬁiﬂ%lmﬁwmﬁﬁm

o Yo el afvea = @ 63maﬁf@mm¢ﬁﬁwmmnmm@@
aﬂmwﬁs%ﬂmaﬁmﬁwﬁmm% 1@m@wwﬁﬁuﬁ3aﬁwﬁ
g, A@ T i

A motor boat whose speed is 18 kmfhr in stlll water takes lhr more to go 24 km
upstream than to return downatream to the same spot. Find the speed of the stream.

OR

A train travels at a certain average speecl for a distance of 63 km and then travels ata -
distance of 72 km at an average speed of 6 kmfhr more than its original speed. If it
takes 3 hours to complete total journey, what i is the original average speed ?

: '@maﬁ%aﬂmqﬁﬁﬁwaﬁwzﬁn 32 & T UEeh afR oTRel sEm %
Wwﬁ?ﬁaﬁwaﬁ%wﬁwj : 15 B, Femd g1 i |

The sum of four consecutive numbers in an AP is 32 and the ratio of the product of the
first and the last term to the product of two middle terms is 7 : 15. Find the numbers.

/zj/éqa@ﬁgawcﬁgmacqt@ﬁgmam%%san LBt | frgdiftm “
9(AD)2 =7(ABY? © |
g e P, s i g v a0 20 e S 6 0 5 A AR

o P, 9 ' ' [P.T.0.
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In an ecl-ﬁ.i.iater;l AABC,D 1s ;1 p;}i.l.'lt on sit_ie _ﬁC such that BD = %BC Prove that
9(AD)? = T(AB)? ¥ |

OR
Prove that, in a right triangle, the s‘qﬁare on the h-ylpotenuse isléquﬁl to the sum of the

“ squares on the other two sides.

;/@ﬂaaAchﬁaﬁBc eﬁnﬁAB sﬁtﬁaﬂuABC 60°€r|ﬁﬂ@ﬁf§ﬁ
H T i, ﬁnsﬁgamiamcﬁmgmﬁeﬁr Tﬁa‘rl

 Drawa triangle ABC with BC = 6 cm, AB =5 cm and ZABC = 60°. Then construct a

triangle whose sides are % of the corresponding sides of the A ABC.

SR sin A — 2 sin® A
/ﬁm "2cos? A—cosA b
sin A —2sin’ A
2cos3A—cosA._tanA‘-

Prove that :

/@%W%mﬂ@m%ﬁﬁwmm%mm 10ﬁtﬁw
3030t # | e wred) i Sred 24 Bt &, < A ' '
(i) amﬁm%ﬁmﬁawﬁu@ﬁsﬂzmami b
(i) mmﬁmwﬁwﬁﬁqﬁwaﬁmm 314aﬁfs1q1

The diameters of the lower and upper ends of a bucket in the form of a frustum of a
cone are 10 cm and 30 cm respectively. If its height is 24 cm, find :

(i) The area of the metal sheet used to make the bucket.

(i) Why we should avoid the bucket made by ordinary plastic ? [Use ©=3.14]
30/1 10
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As observed from lht top of a 100 m high llght house from the sea-level, the angles of

depression of two slnps are 30° and 45°, If one ship is exactly behind the other on the

same side of the light house, find the distance between the two ships. [Use \E =1,732]

SCl-k ok ke 18'% |1 19 - 21 ) SRaRa £ 3 6

mi‘ 13 | 13«15 1817 17-19 19=21 | 21-23.] 7325

RO 3 6 9 13 5 4
e

ﬁnmﬁvﬁﬁﬁa%somﬁﬁaﬁ%ﬁmmaﬁm%

[ ¥ o (0 ) 100 — 120 | 120- 140 | 140 - 150 160 — 180 | 180 - 200

FHETRAT ) TG 12 14 8 6 10

ITUeRT T 1 Toh W Teh o Terd) ST sed N iy 31 IqeT i gifew |

The mean of the following distribution is 18. Find the frequency f of the class 19 - 21.

Class 11-13 [ 13-15 | 15-17 | 17-19 | 19-21 | 21-23 | 23-25
Frequency 3 6. 9 13 - f 5 4
OR
The following distribution gives the daily income of 50 workers of a factory :
Daily Income (in [1) | 100-120 | 120-140 | 140-160 | 160-180 | 180-200
Number of workers 12 14 8 6 10

Convert the distribution above to a less than type cumulative frequency distribution

and draw xtE ogive.
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